BAE A ER exEE oo
Hp ] Bl Gk - AL <k

AL B FEAAE B 21:2019%F7 A 268 A KR P BARFTIESAR AT R BT P s

o | P4 podp e | T (k=
wa | 0% SERE Gos ) BT o K Gos ) [ (156 1)
- 4 1 y i Y i
« €9 B S
7 HEE | HEE
(%) (% )
2650 | 1 > x 5700 [ 0.5 —15.00 = FERRE 1020 | 1.6920 901 [ 12.13 0 [ awak
2190 ko x 0466 16,87 | *xxx : 6 1A G 668 [ 1.5718 235 | 3.76
7270 | 0 * 0310 5.1 * wu Av m /,‘( 470 720 24 02 * *
8090 | 1 ok ke kx 0993 B > 401 961 10.55 * *
1005 | 1 *x 0120 12 P 12.13 ko ke
3 r\r«w ETE 2260 [ 1 - 0240 1 - x 10.74 | 83. *
LAY 2360 |1 > x 1030 10.30 * % 1275 | 8 FETETs
EETE 0.9480 | 0 ** 0490 [l * ok x [ 9.2 98.0 ey
4050 | 1 FET T 1950 8.0 * —7.49 [ —6.07 | 5.6t *
1260 |1 > xx 1020 |1 13 ke 9 6 >k x
1829 |1 *x o x 190 16 Ak Ak ~0.94 [ 0. *
1950 | 1 FET T 5% - E 5 > x
>k 7 13164 * 2 * %
> xx s 15524 | %a* S kX
D 19761 | %k % * *x ke
* 941 185. ok ke x E ko
- x o x 11 7 *x [ 0 —2.48 *
Py 7 EBE 3965 5 Py 6150 [ 1.7300 3.0 > %
* T i % (A/D ) 1940 Ak 5540 [2.669 | 12.17 | 13.26 T
[ *x 5 5 R fi 3061 2 . ok x 7080 [1.7730 [ 5 9.9 * *
0580 | 1.8300 | 4. 5.0 * 0900 [ 12 5.2: *
0843 | 18416 | ¢ 07 Y 5519 | 6.5 1011 [ 13 NEE T T
1263 [ 18599 [ 1 15 1 >k [1.3540 | 8.1 1177 | 13 * x o x
90 90 10.0 5780 | 1.9620 5 7.4 04 ok 5180 1.5. 2.08 5.5 *
. 0707 7 6.1 * ok Kk . 0541 L7577 5.1 8.0 ). 38 ok 9630 10. 3¢ 16.0 14 9. e o e e ke
0 0 8 — 3 2020 | 1.6220 9: 0 7.0 74.64 | 1.4810 > 8.7 13 L b b4
o4 9. 5 ok ke 3120 | 2.1520 10. 90 1 16.99 1 40 * ok ok ke ke [ 1.7890 9.9t 15 g bbb d
4120 4120 10. 40 17 Kk ok ke ke 1620 . 6960 - 9.0 8.0 ok 3100 |1 1.3 —1.87 0 b4
0 0 39.44 47.84 ke ok ke ke 0106 6876 11.32 9.2 >k 2360 | 1 10. 16 7.9: 54. 80 * &
0 111270 | 4.5 EN oy 0950 | 176850 | 590 | 830 | 5.5 = 2850 |1 1 5.5 I Exy
36 * ok Kk 286 7856 . 06 5.1 6 * 550 5.1 6.64 * kK
100 [ 1 ok ke 845 7464 4 11.04 ok 400 5.0 7.6 7 X % K
71 |1 * ke 548 | 1.7355 B 9.51 1.4 kK Kk 370 | 1.6670 8t 14.71 9 * ke ko
6.44 —1.82 * 728 2058 .76 7.0 10. 6! 151 * ke ke 210 11 =1.32 5 L *
5.96 21.5 * 270 | 1.8740 7 11.37 14. 1 102. 14 ok k ke ke 686 | O 6 41.4¢ ek
11.74 7 >k 1460 4470 7.4 6.97 2. ok “‘ & i 5 (A %) 21670 | 1 o 36. 6! 2 A
21.50 FETTE 690 | 16880 o i 12,33 4 o x ok 1 2 0 3 560 | 1 10.0 8. 8 ok %
15,81 * 157 [ 1.2933 7.4 55! 2 * z 000 11 ° 4792 s
> x 790 3450 s B 6.13 . e (A %) 6450 18.7. 188. 31 * Ak ok
*xx 064 | 1.7008 |3 9.3 9.77 0 A x 4; i T e ~A D 3667 o. 06.37 | &k k.
5 P sa0 117100 T 385 T —601 [ o4 - R B A (A K) 3770 o 44.53 *xx
> h ko 2660 | 1.5110 E —3.73 = X 0640 I 106. 40 *
FET T 2080 [ 1.4750 7.79 *xx 1860 a e
2 * x Kk 0210 [ 1.6340 | 3 6.05 * 3000 5 17.2: 7 * ::* *
[ E 9 * * 1620 [ 1.4950 6.70 E * % 00 1 e L2 *rx
I E ko x 3339 [ 1.7339 7.77 > TR 287 2 B x
1880 11 * 0730 3760 42 * 0450 2000 9. 9 11.94 . * ke ok ke
2090 0.7 0 % 0774 | T.6314 90 [ 7.07 *x = e S e 2 o =
e e QR axax R AR d it 2 T T JFL 0 58 1% 0190 | 1.4080 0.3 3.20 **
0540 4 105,40 % 4 %k % 337 [ 1.8687 1017 | 12 [k ke FEET ,:;ww AR ST -
0333 [ 1 —o 33 * 150 [ 1.2230 6 | 7.6 *x e TS B TS x
2041 1a. T > h kA 110 | 1.4860 B 7 e =0 -
221 15 2113 * ok h ke 790 | 1.2840 2 7.2 > x 18320 70 .37 83.20 xrH
6100 1205 | 1473 | 73.83 *xx
2360 6 2877 | kakx 818 [ 1.5000 7 | 6.5 * oo cm T T s T oeas
0670 9.2 12.57 *x 450 | 1. 4850 0 1 * ok ko k [1.6350 10.44 | 10.56 Z) > x
6084 | 1 50 49.97 kK ke kx 950 | 1.4600 | 5. 6 7.9 * x [1.4195 | o 10.57 9.16 4 * ok ok h
0600 | 1 —0.00 6.00 * L0881 | 1.4071 7. * I 15.50 | 39 40,97 -
1076 6. 27 >k * 3600 | 1.5100 a * T T 6.5 ) 3 * ok x ok
2190 |1 18 ok ke 0760 | 1.5450 | 7.4 E h kA H S Tie e
7850 |1 63 FET T 0615 [ 1.4965 | 8 *x ok x = B i o
7 1260 |1 s *x 1374 [ 1.1374 [ 7 ek ke 12.00 | 1489 ¥ ok ko
TR e 1220 | 6. * 1660 [ 1.5910 | 5 > * P 61 ey
R W IR 8 0959 |1 is 2 % 4250 [ 1.6650 | 7 EEE T FIoE i e 15 ST T
X} ik 7 5 o o B 9170 7.00 5.30 * 0519 [ 1.4329 8.8 9. o xx T3 i 163 FTT
S R 0840 3.9 4.2 * 0880 | 1.4100 | 2. 5.1 5 S *x T & o1 T oy ey
15 o B 0170 —1.07 7 * 0250 [ 1.4070 7.9 9.0 * * 9 7 1 R [ 7500 5 11.63 5. Ty
> 1230 |1 5.0 | 21.7 *x 2149 [ 1.4149 0. FE T e [T 4630 %9 57 o ek
5000 | 2 1.0 6.7 * 2120 [ 1.3980 i P [T 5420 3 55 e ey
6800 [ 2 5.5 11683 | % a* 1050 [ 1.4410 10 [T 9570 T3 65 B T
3 9484 —9.68 —6.83 0970 | 1.4470 | 5 o * x ok [1.3390 5 7.4 44 ke x
3 0137 [ 1 3 i 18 - x o x 3308 328 | 5 10.52 3 4 Py 1564 |1 3397 | 4 115 5 Ty
R 3 0700 5 11.10 13, ke ke 0890 | 1.5 10.21 ke ke ok ke ke 1290 5390 5 9o 10. 49 S, * ok h
ER A 31161 7. 2505 | 26 PR TS 1260 | 1.4710 15.70 D P 330 [ 15800 | 1 > ~0.35 5 *
K % 4 P 6584 2. 53.27 [ 52 FETE T 1040 | 1. 4600 10.56 *x ok x 4530 [T o000 | =517 [ —hei | —a5r o =
EXF ST X 0722 - E 4. * 2390 [ 1.4590 37 | 7.061 >k FE 5670 [ 1.5670 | & I 70 (R xx g x
¥ ‘)7 # 3 260 [ 1.1260 | 5.8 7.0 9 12.60 * x 70 4410 10.21 12.10 6 ok *x L A 0730 [ 1.4060 | 3. 3 Py
T L (C 497 497 | —0.58 | 2. 0 1 *x 31 3938 9.51 13.04 4 [k ok ok ke x ETE] 2104 [ 1.4374 | 6 4.5 e A e kK
TR de A S N CED) 740 740 | 2.1 3 3 7.4 ** 040 920 9.97 10,90 0 >k x ER B 1230 [ 1.4550 | 4 5.3 * *
EEH AsEERs(CH) 407 [ 11497 | 1 * 63 634 1260 | 11.86 08 o xx TR AR 0630 [ T.4570 | & ) *
¥ 15 1 72 615 615 | 10.21 E ok x 430 170 @ w 8550 2700 | —1.16 —30.33 —
5 Jr @ 830 130 | 13 Ak kK 17 374 10.07 T ML;HW E(AZ) 6910 6910 [ 15.03
g * ”mﬁ rm i \( 1 2816 | 1.2816 | 15 3 3 * * ke 5050 | 1.5400 7.96 E * ok mer F(A/B ) 0450 | 1.2530 9. ~3.07
HESTIS) 6.4 E G > hx 230 [ 1.2330 —3.78 * e 0990 |1 .97
5.5. T 34, e x h kK A X 690 7490 9.96 e mﬁm\m 4600 | 1 5.5
8o 1 i FErTey EXTT 0TS 0540 [ 1.3710 10,54 ko Ak I a1
203 3 ek % 3 3 L {5 (LOF) 750 [ 1.0150 10.74 FE 18
10870 | -2.77 [ -8.50 ~4.90 > 8 7% F 7 fF % (LOF) “0997 | 14851 B P T ]
(14700 | 6.60 | 12 16.4 % 2 815 i FL 0 (LOF) 2230 [1.5030 | 4.9 68 5 >k x [ —5.5 | —0.19
[ 13250 | 19.27 | 24.2 30. P 0685 [ 1.4310 * 11.30 | 13.84
I 50 [ 2.7 18,4 *x 540 | 1.3707 Ak A I 12 15.68
— W HH AR & (A % 950 | 1. 1950 * 1565 | 1 6.0 6.80
G 9.7 AT 520 [ 1.5200 ok 0071 |1 1 23
7 1186 s > xx 250 [ 23660 | 4. 14634 | % * % * 1360 [ 1 4 567
o 9.5 * a. -k 2380 |1 9 12,74
2 115 > x 7.5 ok 1928 |1 7.3 10.17
(A 7 9.3 x o x 9 1690 3 10.39
T ERAEAEECA 9.0. > x 0610 [ 3.21
R T ICES] 8.35 * AGET 0 2.00 A 1‘.1 ‘ﬂ a: 8810 | 0 —17.51 | —16.25
d {5 4k G 13 - (A X 5 11.76 o x o x 3T 13.07 ok k Ak T 9060 [ 0 —0.66 | —6.11
11.69 FEE TS 10.50 | 0.57 FE T 0600 [ 1 6.1 9.5
3 13.44 > xx s 12.04 >k x 390 |1 6.0 6.4
a 10.12 *x o x 10.97 P T 755 10 3.7 0.4
I 2 s o E 8 > x ) 370 |1 @ 7.7 9o
4 [ 100 > xx E 3 0 - x 560 |1 [ 167 | 137
ol [ 11 * % E E FE T e 750 4 §.04 | 14.04
o 8 ke x E 10.30 EEE T 367 2 —0.06 [ —1.20
10 Ak Ak 5 T 5 ko ke e 2670 [ 1.2670 | 12 18.74 | 23.61
73 *x T 1041 *xkx T INES) 120 [ 11120 | 3.9 6.31 i
ET ek x 0630 [ 1.1520 | 3 - EXRES) 1500 [ 1.2160 | 7.6 9.6+ | 16.89
a: P 0840 | 1.2840 | 5 s 4.2 * T 01 [ —5.a1
I m 15 A 45 (A %) 6: * kK 1030 | 1.1290 6. a 8.80
Jt.wwtr*m( EES) T 562 * % x 2550 [ 1.2550 13 ic * * i
LLELL EI0ES) [ 10.19 *x 540 | 14060 10 10 3 C 1035 | 5334 [ *ak=x
) 1880 | 1.3560 [ 12.57 > x 180 [1.2180 [ = 8 12.56 * * f"&wa CEXN 14,93 | 147.79 |k ke
i K A %) 2150 3490 04 6.11 * 260 1990 4. 8 9 ?r(( 4.51 T * K
2254 | 1.3637 14.32 * Kk ok ke 170 2510 6. 13.01 16. 69 * * 9.34 7. ke ke ke
1320 | 1.3800 10.50 *x 170 [1.2013 [ 7 12.62 | 14.00 * * 7 ey
0080 | 1. 3080 1 580 Py 150 [1.1490 | 6 10.60 | t1.21 7 5 * ke
2140 [ 1.3660 | 6.7 10.56 * 230 [1.1830 | 7.55 | 12.41 | 12.04 T 10.63 | 6 * ok k x
0362 | 1.3584 | 5 14.49 ek ke ok 230 1230 | 2 6.85 8.50 0 > x 7 * *
2470 [ 1.2470 | = 5.2 > x F B K 18 4B 011110 ] 2 7.2 5.07 i10 *xx 2 [ 7 ok
0560 [ 1.3590 | 6 1154 *xx % & {5 1 8 it b 130 [1.0280 | —7.70 P I * 6.1 *
0820 [ 12200 | 4 7.4 3 E * SAAES T 7 .33 | 1411 16.30 [k e a® 52.C kK
1060 3610 7 11.31 11.31 0 ok ke b 3.75 8.02 8. 3. >k ok > 77. L ek ok ke
09 ET 5 7.7 4.5 * 4. - 6. 10 * * 7 98. 21 * ok ok ok
764 268: 2.50 4.5 7 >k 4.15 10.23 11.99 ek K 3 72.8 * *
762 326 7. 11 13. H ok ok ok ke 1.3 2.90 3.98 * 72 170.34 * kK ke
131 14631 3 > * — 3 {5 B Cr e i A %) i * kK
270 2020 * 44 6.87 6.00 ok 8 =0. i
(D) 7495 [ 1.2108 | 3.10 > * 5.77 1114 9.97 5.0 ok *x _| 115, * K
770 [ 1.2220 1 > xx 0632 [2.1200 T 75 [ 121 N x Ak .95 *
;2 % 2060 | 1.2700 2 * ok x K 2700 | 1.8930 4 11,47 10,2 ek ke k 52 E *
2 LA £ 7 \ 3) 0240 [ 1. 1410 ) * 0681 | 1.9063 2 4.4 3.9 * o) E Ak ok k
»,r‘,L,rr/mw‘(*(, (A 1000 [ 1.2810 | 5.5 20.07 %k k ke * 0527 | 1.6860 | 5.35 ®.5: 91.20 % k& & & 6 * ok k k.
F o7 1168 2498 25. 7 * 0766 7844 -0.40 -0.26 9 101.64 * 9 *
I 2130 2130 9 21. 3¢ * ok Kk 1065 6943 .37 7.8 82. 1 * * L E * ok ok kK
LT 870 [ 0.8870 ~i1.30 - 5430 | 1.9040 61| 5.0 103.89 * i ET T T T
0120 [ 1.2030 2.0 *x A x 2980 [2.0830 | 10.47 | 12 150-07 % % % % % 4 [ *
1589 2054 10.34 21.3 * ok ke ke Kk 0096 10. 40 8 * * 2 = O *
0430 | 1.2030 2 ke ok ke ke 2118 | 1 A 3 88.0 * — kK
TR 0380 [ 1.0650 6.5 * 0817 10.16 0.0 sy * ok k
0424 670 E * ok ke ke ke 5504 13¢ 5 * ok ke ke * &
0220 170 * 0400 0 64 ¢ e
121 556 | 3 8 * ok x 7440 | 2 0 > 6. 120.39 > * 0 150, * &k
[ 059 767 71 - x ok 1780 | 1.4420 7.5 7 ke =T e T
ERTE LT 166 z £y * 1410 6.5 5 * % L& LT
E )5 222 60 [ 10.03 N > xx 1560 —7.74 | ~10.66 * o x
2 3 602 12.64 | 14.27 — 2360 —4.48 | —6.08 | 5 —
1 B ik 4 ES 1477 5 11.20 13.01 ke ke ok ke 0150 4.89 0 * s
Y i 38 B B 17t 3 5 [ 1. 1068 34 10.67 7.73 - * 1500 78 5.87 * ok x - ":"
z 0334 [ 1.1465 1108 | 12.7 *x Ak 0570 00 | 4.56 * R
5 0929 9.12 7.6: 9. * 073 4 7.05 9. * ok ok MZ 9. - *
5 1230 | 6.0 Tid6 | 1149 | 15 ok x 165 0 4 *x e =
40 [1.1370 |4 634 | 6.6 13 * 76 E =3 a > x
70 [1.0750 | 3 741 4 7 * 1 3 > % e
E 100 5 1138 | 0.51 *x I 3 *x 2
40 [ 11000 [ 1 5.5 7,48 G o x 1 7 * % = T ~
0535 [ 1142 5. 10.77 > x 0 n 0 - WK »\w e
0642 [ 1.1 10 10.4 ok ke 350 2 | 13.40 T T R o
0235 [ 1.1 12.10 | 13.6 E ek ke x 1500 E 6.7 P EE ot e
1200 [ 1.1 o 9.0 C *x 3200 | 1. 470¢ a3 [ 7. E TETET .
0870 | 1 9 9.2 ok 1650 | 1.4850 TN ) E P T T rﬁm,( Yy
0320 [ 1.0 7.70 | 6.5 5.0 o x 1210 [ 1.5570 7.54 P wh e e
Y 0220 |1 ) 7 587 [xkkhx 0850 | 1.3770 2 w17 * * 5 e x
i 0167 [ 1 7 3.07 *x kA 2026 | 1.3908 3 11.92 F ok ke a n -
e X E3) 1290 5.7 747 [xkkkx 2010 [ 1.3760 0. 1183 ok ) [ ok hx
0537 [ 1.1 437 |k ok kx 1010 | 1.4040 .10 * ke k ok T 3 * ke k x
1070 |1 5.2 G 3 > hx 0900 [ 1.4210 5.0 kA x 50 I T e
0220 [ 1.1 Iz 3 7 P T 2936 [ 1.4886 > s EEs 5 s
0680 [ 1.1 © 941 5. * 4 I 1100 FrEy 5 >
7 13.41 7 FET T 7 6 * % 0
o 9,65 3.5 > x E 10 183 [k ke ke I TETE
o 7.85 0. * o x E N 11 3 ek kA
7 .77 7 * 30 [ 1 5 o o x
& - R NETEZYE Y 2323 10. 56.60 | dk K x
1 102 > xx 1050 404 50-66 =
) I [ 71 o * 1950 ) o x Y
SR TGED) ¥ ENE) o x £ 555 4270 E 845 3 o xx 0.3 *
[REICES) 734 * 1550 |1 —3.70 [ 20 s AT T T
fi £ (C 11.06 ok x 3 1500 |1 5 12,61 162 [ak ek ke s FETy
# [ 1067 IS EEE) m 3140 12.2: 141,16 | % % * * * B 7.0 *
I 12.4 *x % 1 C 2040 |1 8.7 5 FEEY 11,50 *x
[ I3 > x 3000 [ 1 ~0.15 6 [ 2120 | * A%
[ 2 % 2960 —3.14 S 13 PR
E 10.17 3 Ak x 2730 2 13.99 P T T 43 >k
10.73 % 0777 .07 FET T “17.27 ] —13.30 -
3 65 P e 0760 | 1 .91 o wx 5,04 13.0 > x
T EY TEACES G 1117 5 Tk dkak 0860 917 FE TS 6.01 9.3 EEEs
wwrm’iu [ 6 | 058 * 0621 | 1 10.04 FEE T 12.54 | 14.00 [xkka®
680 | 1 8 | 10.61 % 1170 9 P 1200 [ 1a FEE s
I 1 [ 10.40 P 0530 o1 EEs 82 9.6 P
[ 624 | 11.07 P 0900 2 1565 | 20 ok k k
S E 0949 00 9.3 - 8.00
[ES EEE s 1520 16 > 3
5.1 E 3900 14,88 Ak A 251 **
xv 7 13 > x ok x o716 | 1. 13.22 * ok ke k. 0.47 *
FeeN s 10.40 EEEs 1090 11.89 > xxx —0.06 e
3.7 o: o x o x 2856 | 1 26.29 - 21 ok k A x
20 |1 6 ok 0860 9.2 *x o x @ EEEs
620 |1 10.31 > x 846 5.2 - i A% 538 FE T
) 640 a * 0450 a1 4.50 * * o 4 {0 5 0 —i2.41 *
i 2 ) 060 .0 Kk Kk — A HFA LS — s ) J7 % & o] 4% 4 i -3.27 * Kk
ST Trntore 624 * i 184 ENTY * 554 | 8.8 P
7 B et (C %) 490 | 1 G 0 70 * 7 M;wbms! 216 | 1 1.6 > * EP) —5.88 *
5 % K 2r A B A (C ) 463 T > x SELE, 390 1 E 5,40 * —13.67 *
o 3 ff 680 | 1 57 *x EIE 0624 |1 E 151 * % F (A 1.65 > x
BEFL 1870 | 1 6 2 11.80 5. >k x ';f"" 3241 9 15.92 e T % (A % 7.2 3,74 ey
CX.E 0240 5 i 3.48 3 * R (A 1210 |1 5.5 * % st ey E 7.22 Sk
T Gr # i f 0840 Tio [ 10.70 | 12.86 *h ok x AL 0930 [ 1. 10.39 | 8 10.66 *xkx B i o 8 ff 1 3 /»« 3 ¥ - —i.76 FET T
R TR (C ) 1880 o1 | 839 | 9.9 8 -k x FERHLEFFC 1689 3.4 341 ] 2.06 *x AR 9110 781 ko x




